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(2) 9IS T 2 37 & foIC B

(3) oA §A L o TIC Fat 90 e o1 ww=r T smam|
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(7) 3 ad faremew g’ W@ 1w & rfdfen o fopeh ot o o forw s & siferes ddem 1w
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3ifehd IR Tl Tl fohu SR |
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| IAd § THY T T @ T I o fA GH: T H|
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(13) g1 ® Ffe/ercht/zoeh Ty ° faed foamem styar sifvmaest gro g freonferssdd =
Trerurerfere o um foifed €9 8 7 9o/ gefed faemer & A @ st ugha @ & 99|
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T AN & Geiid o1 feanr on o[e Wal % sfag@ hl SIEedl Tl W
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(1) Cam (2) AHeHA

(3) T 4) TEH
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03. IO TERIE Hild Sy &4 TR7
(1) oo 9
) fafim faenfesat & a9 FH Smd @
(3) JA-TEH H
4) 93 We % W W

. 04 § 06:- T T | 97T qAig i@t Gaid aredi &l UResg dar i ?

04. U9 weate Rragfa odenm #§ it @ T e
(1) fgat (2) i\
(3) wem (4) =mEEl
05. UERUMfTh! hl AR & 3Tk _ & =Wom <l TS|
(1) 3e8r (2) I
(3) FNEH (4) 3
06. 39 Tl TIM YA H 9 TEeEI sl feEm
(1) @G 2) =
(3) WX (4) ¥
07. & w1 FHE A4 I Weg H T FHU?
(31) @t () afet
(8) I (%) =0
(1) & 3R g 2) ¥ 3R *
(3) & IR ® (4) A I
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08.

09.
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11.

de for MU fowegrefl wegi F1 @ SIS gEETHC:

(1) onfeass x i (2) AT x 3m
(3) 9 X WM 4) feam x @
dre fou U wedl W yg-weg UESNT:

(1) iger 2)

(3) Fgw 4) frre

= feu U STl Wedl % TRl A & U UgHTHU:
(3T) TR FH THR - F T agaqaEn
@) HAFA H @ - GgAH

(%) g - R il
@) bt - IW AH A
(1) 1 M & (2) 3 AN T
(3) & IR * (4 AR

= fiu T oweg T % fow Ay v wgEnf
el qer 9§ gl

(1) o= 2) A
(3) Sl (4) I
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12. = fou 7Tu ge@l SR 3k 1d i SifSA W U T SISl YgHTHT
(31) T ¥ T A I - ANTE B
(9) = fK @E o - ffea g
(%) TA T - s & S
(3) e fe@m - q5d qH A
(1) 31 3R & 2) & I T
(3) 3 3R« (4) & 3R T

13. fT=fafed weg o @ § UoWIER J9d I6¢ dEAI:
(1) =g 2) U@
(3) §d (4) 39

14. = fom T d-Rese w1 w8 W@ wEET
(37) GEahI = ek + Il

(4) DEEE = B + JAEH
)

(%) USRI = 3FcTT + AR

(3) @M = mal + Uik

() 31 IR & (2) & IR ®
(3) 3 3R« (4) A I S

15. = v m g § fhar-fmmer s geEnu
LE I O R U ]
(1) “EI-g (2) TSh
3) 5@ (4) @
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18. = fou U TR O Iuw-gad Weg UM
B IS fedt i war wd @
() == (2) SSH
3) & (4)  wen

19. 9= fu T weg § ¥ @ qRem weg wgEIh:
(1) <EH 2) T
(3) <@ (4) <d

20. 9 feu WU g W U @ifhd s H HH UEATHT:
T hoq ¥ foraar Bl
(1) & (2)
(3) @G (4) 3UIeH

SPACE FOR ROUGH WORK

0311-Hindi Set-A 6 of 32 Contd...




21.

22.

23.

24.

25.

o fou U g # @ Toomnds’ 9 ugEnHu:
(1) W&d 3 ga oo AeH TR

(2) # e TE A

(3) 3wl fhaw W aew Rl

(4) I& Agh HH 77

‘T AN w1 THE sH AW veg ok GHWE faug 9 g@ M wWeg IR
TOE % YR 9 § TR g

(1) fr= 2) frah

(3) TogEd T (4)  gferrEEE

o & 7w dfd § vee@eR % ¥e uEETu:

‘@, o, de, duw, T §9g o’

(1) SIIE AARR (2) IEH IJABR
(3) TIY ITABR (4) TIH ITADR

o e o aifgcs # A foemer SwIm R0
(1) SRt J91g (2) Becfrer T
(3) ditg fax (4) Tmud fag

TS hl gl R 87
(1) =9 (2) dis
(3) SR 4) Tam
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26.

27.

28.

29.

30.

SECTION - II
MATHEMATICS
1 1
a—-b T bh-a ~ ?
1 (@a—b)+(a—b)
M avp @ “a=bb-a
3) 1 “4) 0

The LCM of two co-prime numbers is 910 and their sum is 83. What will be

the difference between the two numbers?
(1) 57 2) 60 (3) 81 4) 75

Two right angled scalene triangles are joined along their hypotenuse. Which of
the following figures will be formed? (Select two correct options)

(1) Rhombus (2) Kite

(3) Rectangle (4) Trapezium

60 /. milk contains 15% fats and 40 /. milk contains 8% fats. If these two milk
are mixed together, then what will be the % of fats contained in the mixture?

(1) 87.8 % 2) 122 % (3) 1220 % @) 122 %

Find the value of :

1 1 1
274 X 364 X 81A
25% X 400%
(I) o4 (2) 5.4
(3) 0.54 (4) 0.064

SPACE FOR ROUGH WORK
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26.
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29.

30.

W -
T
! !
Lt o, = e
| (a—b)+(a—b)
) @ “@=bb-a
3) 1 4) 0

T UE-FYST TS A @1 fI 910 dUr IR AMHA 83 Bl a1 3T Qi
e § At fehar gm?
(1) 57 2) 60 3) 8l 4) 75

A gatrew fwerg wwEn St @ Reet @ Sy W frafafad § @ #6-
el S ? (S "W WA gw)

(1) wHEgys (2) W

(3) 3 (4) wHeE =g

60 Wfiex gu H WS W HET 15% TH 40 WX gu H wars sl A 8% &
gl gl W AW W fagw 4 weE e eua fea Bnm

(1) 87.8 % (2) 122 % (3) 1220 % 4) 122 %
HE 3AId U
27%><36%><81%
25%><400%
(1) o4 2) 54
(3) 0.54 (4) 0.064
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31.

32.

33.

34.

3s.

36.

In a circle, the measure of a major arc is 60° more than double the measure of
its minor arc. What will be the measure of its major arc?

(1) 100° (2) 300°

(3) 220° (4) 260°

Write the degree of the product of (x*—27)(x*+2x+2)

(1) 6 2 5
(3) 3 4) 2

Which of the following options indicate the volume of a sphere?

(1)
3)

x 23 2 5
4

IS

3

Rohit purchased a 3 year old used machine from Mohit for Rs. 8,57,375. If
the rate of depreciation is 5%, for how much did Mohit must have bought the

machine ?
(1) Rs. 10,00,000 (2) Rs. 12,00,000
(3) Rs. 8,00,000 (4) Rs. 9,00,000

Which of the following are the factors of a trinomial ?

(@ — b)? —17 (a — b) — 60 ?
(1) (@a-b—-12) (a - b + 5)
3) (a—b+20) (a-b-23)

(3x+7) is an even number. What will be the square of ‘x’ from the following

options?
(1) Odd number (2) Even number
(3) Prime number (4) Twin prime number

SPACE FOR ROUGH WORK
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31.

32.

33.

34.

35.

36.

fret g & @ = w1 WM, WG @AM % "W 6 gH d 60° Al B,
@ & A AW [ HIC

(1) 100° (2) 300°

(3) 220° (4)  260°

(xX*=27)(x*+2x+2) 38 ¥gIG % THGA hl HiC (9W@) fARau)
(1 6 2) 3
3) 3 4 2

frafafed & @ - PHRA A B TTRA ST /7

(1) +x 277 @ Lxdn?
G) 37 @) Ay

Ufgd 3 mfgd & w8 & 3 a8 Iwm ° arRit i e e wefie 8,57,375
R 0 O@d| frmmee i @ 5% Ufqas & d Hifgd 3 9g a9 fhad ww oA
il e

(1) 10,00,000 F9 (2) 12,00,000 ¥4

(3) 8,00,000 ¥4 (4)  9,00,000 T

(a—b>—17 (a—b)—60? 38 Bug & HEs f=fafga & ¥ ®H-9 g7
(1) (@-b-12) (a—-b + 5) 2) (@-b+12) (a — b - 5)
(3) (a—b+20) (a—b-3) 4 (a—b—-20) (a—b+3)

(Bx+7) TH THEEAT B d ‘X’ & O HfARGd H ¥ w9 W wEn greie
(1) foom @ (2) WH &
(3) IUST TEA (4) T JYST T
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37.

38.

39.

40.

41.

2
Abdul covered gth distance between the towns A and B by car and % the

distance by bus. Still town B is 15 km away. What may be the distance between
the town A and B ?

(1) 105 km (2) 450 km

(3) 75km (4) 150 km

The capacity of a bucket is 10 /. If it is to be filled to its full capacity, how
many bottle of 1.25/ will have to be emptied in it?

(1) 8 bottles (2) 80 bottles

(3) 10 bottles (4) 100 bottles

If a supplementary angle of an angle’s complementary angle is 108°, find the
measure of the angle.

(1 72° (2) 18°

(3) 98° (4) 198°

In the adjoining figure, the diagonal of a square is 12cm. Find the length of
every side.

&L
1 \'\, £
6 :
(1) /2 cm (2) 6 cm
(3) 12y2 cm 4) 6y2 cm

(0.3)2 + (0.1)2 — (0.2)2 = ? (Select two correct options)

(1) 0.6 (2) (036)
(3) /0.0036 4) 0.06

SPACE FOR ROUGH WORK
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37.

38.

39.

40.

41.

o o 2
¥ 3 A A B WA T T F a0 pa gt w1 oo oW FR F

%mw@aﬂ%WBﬁamﬂﬁﬁlsﬁﬁﬁag@,ﬁAaBnﬁﬁ

% o H g e 27
(1) 105 Tt (2) 450 foprft
3) 75 Tl @) 150 Tt

fopet wTeel I i@ 10 WX 21 3§ Seel & U # I @ W % fag
Har i YT fohdd diddd 3o 9ei ?

(1) 8 s (2) 80 dwas

(3) 10 s« (4) 100 sde

fREl ®IT % HICEH hHIU %k HIE SO w1 7Y 108° B AT IF R H
EIEEE LY

1) T72° 2) 18°

3) 98° 4)  198°

Ham a1 1 foRul 12 T OFl, A 38k T S hl @@l {A R

2
4 Q) €
6

(1) 7 ot (2) 6 T
3) 12/2 @ 4) 62 W
(0.3)2 + (0.1)% — (0.2)2 = fpa1? (3 =& waig )
(1) 0.6 2) (0.36)/2
(3) 0.0036 4)  0.06
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Four vertices of a square lie on the circle as shown in the figure. The center of
the circle is ‘O’ and radius is 7cm. Find the area of the shaded portion.

(1)
3)

.0

54 sq. cm (2) 55 sq. cm
56 sq. cm (4) 57 sq. cm

In the adjoining figure, /, m, n are parallel lines. mZDAO = 60°, mZOCE = 35°,
then mZAOC = ?

LD A . |
67
<« - » m
B O\ G
< 35° > 7
E C
(1) 25° (2) 95°
(3) 85° (4) 105°
Which of the options given below are incorrect statements? (Select two correct
alternatives)
(a) A ray has a midpoint.
(b) A line has a midpoint.
(c) Chord of a circle has a midpoint.
(d) Perpendicular bisector of a line segment passes through its midpoint.
(1) a 2) b
3) ¢ “4) d

SPACE FOR ROUGH WORK
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42. APfd § TUGIER o o WR WY fag a9 W 2 oI9 & G 7 wf 3
$z ‘00 B @ @ifhd WM H &ABA @ HIST)

0.8

o
b

.0

e
32

X

(1) 54 =0 @ (2) 55 @it uH
(3) 56 = @ @) 57 @t I

43, Rdl H W@ L, om, 9 n WHR W &l ms/DAO = 60°, m/OCE = 35°,
g @ mLAOC = foaar?

L4 .
7
< B O\ G » 11
P 35° > 7
E C
(1) 25° (2) 95°
(3) 85° (4)  105°

44, FTrafafga # ¥ To@ wE gohw (@ @@ @i gew)
(a) fmw &1 ws meafag g 2l
(b) @ * TH meAfog Bl B
(c) 3 & a1 =1 wh meAfog &l Bl
(d) WrEe * AGHHigWS® 3Idh HeAfolg § S gl
(1) a 2) b
3) ¢ @) d
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45.

46.

47.

48.

Which of the following terms, when added to the binomial 1 + 6442b2, will
make it a perfect square? (Select two correct alternatives)

(1) 16 ab (2) 8 ab

3) —8ab 4) — 16 ab

By which of tests, A ABC and A DCB from the given figure will be congruent?

A D
B C
(1) SSS test (2) SAA test
(3) ASA test (4) SAS test

Find the ratio of x and y, if a number is 20% of ‘x’ and another is 25% of ‘y’.
(1) 5:4 (2) 4:5
3) 2:3 4) 3:2

The weight of 20 students from a class is given in the frequency table. Find the
mean of their weights. (Select two correct alternatives)

Weights of the students (in kg) Frequency (f)
20 11
21 8
22 1
(1) 20 kg 50 gm (2) 20.5 kg
(3) 20.05 kg (4) 20 kg 500 gm

SPACE FOR ROUGH WORK
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Dol

%,

45. 1+ 6aa2p?, Ao Tl A i o % fre Fefafen § @ #R-wm owems 3
WM (@ wd wEE gh) o
(1) 16 ab (2) 8 ab E
(3) - 8 ab (4) - 16 ab S5
46. A § A ABC @ A DCB fpu wurl @ wahmm F §
A D
B C
(1) 9-9-9 2) -
(3) HI-Y-H 4)  Y-hi-Yy

47. TH G (x) B 20% qA I WA () F 25% WHE &, A X B Y
¥ U §a hifu)
(1) 5:4 (2) 4:5
3) 2:3 4) 3:2

48. et wem & 20 foenffel &1 awm (i fhammm @) fragEm 21 3@ smuw
w ol % oo w1 mem g Al (@ @ wi gl

foenfdi=t &1 9w (x) TRERAT
(i fetom #)
20 11
21
22 1
(1) 20 framm 50 um (2) 20.5 foremum
(3) 20.05 feretumm (4) 20 ferefmma 500 T
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0311-Hindi Set-A 17 of 32 P.T.O.



Q)

X0

X

53

)

L7

¥

27
!

Q)
)

R

X

¢

R

27
Y

X

.

Q)

X0

.

27
T

S

)

)

27
.

5

R

)

27
)

X

Q)

(R

X

X

¢

X

¥

27
)

X

Q)

X0

)

53

X

¥

27
T\

X

Y
L7

Q)

R

)

X

¢

)

Y

27

7 X7 SO SO SO SO SXOF SO SO SO SO SO SO SO
.

L7

K

Q)
)

27
S\

O ABCD is a cyclic quadrilateral. Point E lies on the ray BC as B — C — E.

It m/DCE = 95°, then mZ/DAB =?
A

(1) 85° (2) 95°
3) 190° 4) 170°

From a rectangular thermocol sheet with dimension 20cm x 10cm, a rectangular
piece of 2cm x 5cm dimension is cut. Which of the following sentences will

be correct for the thermocol sheet?

20 cm
5 ]
= i
(1) Perimeter will increase (2) Perimeter will decrease
(3) Perimeter will remain same (4) Perimeter will get doubled

Find the incorrect statement from the following:
(a) Every prime number is a natural number.
(b) Every rational number is a real number.

(¢) Sum of any two prime numbers is an even number

(d) HCF of twin prime numbers is 1.
(1) a (2) b
3) ¢ 4 d
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49. fd H O ABCD =shid =gds &l TRl BC W fig E 38 y&r 2 f%

B-C - E. ms/DCE = 95° @ m/DAB f&aT?
A

RS>

>
vy

(1) 85° (2) 95°
(3) 190° 4) 170°

50. Tl AR 20 TH x 10 9H. AU oAl % e H @ 2 It x 5 O
HYATAT AR Zhel Hel dl o« g¢ e & fau fefafed & & -1
I HE gl

20 o

10 9t

(1) ditfafa s 2) uftfufa s nf
(3) whtffa 3aft & =i (4) uiffa g @ s

51. fyafaRed & @ 7Td *e Ug=ntU)
(a) J® JIUST & Uhd G&A Bl B
(b) Y% UNE T&aT ddias @A Bl gl
(c) TFdt @ ISy Tl &1 ANHA Ted THEEIT & Bl 3|
(d) 3T I TS w1 wElE 1 g Bl
1) a @) b
3) ¢ 4 d
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In the figure, line / and m intersect in point ‘O’. Find the value of ‘)’.

(1) 1le4° (2) 56°
(3) 34° (4) 146°

Read the following statements and select the correct alternative. (Two correct
options)

(A) The numbers divisible by 3 and 4 are divisible by 8.

(B) All numbers that are divisible by 2 and 9 are divisible by 18.

(C) The numbers divisible by 6 and 10 are divisible by 2.

(1) Statement ‘A’ incorrect (2) Statements ‘B’ and ‘C’ are correct

(3) Statements ‘A’ and ‘B’ are correct (4) Statement ‘C’ incorrect

Which of the following conditions should be given to make the total surface area
of a sphere and cylinder to be equal?

(1) Diameter of a sphere should be equal to the radius of a cylinder.

(2) Radius and height of a cylinder is equal to the radius of a sphere.

(3) Radius of a cylinder should be double the radius of sphere.

(4) Height of a cylinder should be equal to the diameter of the sphere.
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52. S W oW [ d om WER ‘O’ foig W ufesfdd wd & @ 9w AW ¥
|

s

S

<

(1) 164° 2)  56°
(3) 34° 4) 146°

53. fmfifiad o wew 9 wig ghw (@ @8 w@iE g
() 3 9 4 7 fgua grawet aft ded ¢ ¥ fawfsa &t 3
@) 2 3 9 @ fwfa gHareht off @emd 18 @ fawifsa &t &l
(®) 6 9 10 ¥ fawfoa anae @ft ged 2 & fowfsa 2t 2
(1) HH T Tad @ 2) &M § I ® "G B
3) ®W @ I T = R 4 HW F T B

54, JAHR 9@ H Y9 YERA TH Tl I YEHA @HF 8W % fau fefafad
2) JAR SO h BSAT T HEE, Mo hl BSAT kSR BHT TR

(
(
(3) oumepR e K B, Mo H B @ ogrd g =nlul
(4) gARPR S H HAE, MA b FE b SO BH AT
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5sS.

56.

57.

S8.

59.

A fruit seller purchased 48 dozen bananas at the rate of Rs. 48 per dozen.
1 dozen bananas were spoiled. He sold the remaining bananas at Rs. 72 per
dozen. How much profit or loss did he incurr in this transaction?

(1) Rs. 1080 loss (2) Rs. 1080 profit

(3) Rs. 72 loss (4) Rs. 48 profit

In a cuboid shape tank, water is being poured from the tap at the rate of
60 //min. The capacity of the tank is 108 cu.m. How much time will be required
to fill the tank to half of its capacity?

(1) 10 hrs. (2) 3 hrs.

(3) 30 hrs. (4) 15 hrs.

What will be the compound interest on Rs. 30,000 at the rate of 12% p.a. in

l%years?
(1) Rs. 5400 (2) Rs. 6516
(3) Rs. 5696 (4) Rs. 5616

Using the digit only once, from one digit prime number form the greatest and
smallest 4 digit number. Which of the following options will not divide the
difference between these numbers completely?

(1 3 2) 5

3 9 4 7

Which of the following options is not a pythagorean triplet?
1 G, 4,5 () (7, 24, 25)
3) (8, 15, 17) 4) (5, 13, 14)
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56.

57.

S8.

59.

Trefl wofashar 3 48 T TS hl W T 48 TS whell @ilell IGH 1 &S o
T B M| AW g kel ol 72 I oo shl @ © 4T, dl 39 o¥9gR H
U AW B AT BE? TehaAT?

(1) =4, 1080 0 (2) o™, 1080 T

(3) ®H, 72 T (4) <™, 48 T

T ok MR areft Ut hi fRddt dh A 60 ofir ufa fafe B A
T @ gt firar g1 R Hoerfar 108 weHieX &1, dr et Rl aH % fotw
foram T e e

(1) 10 w@r (2) 3 @

(3) 30 wer (4) 15 =

12 wfefer wfoed 1 @@ & 30,000 ¥R F 15w & Gy AW fbe
FTT?

(1) 5400 ®9 (2) 6516 T

(3) 5696 T (4) 5616 T

Tsh 3ThdTcd] HST TEII3Teh 3Thl 1 Uh dl SR JAN Hish o4l oo §
FE 9 DI ¥ B IR kgl T h IR 4§ FHfagd d @ few wEn
g oy am T S

(1) 34 2 53
3) 9 4 4 7@
fefafgd & ¥ *NF-91 9 g qEemRE G T8 87
(1 (3, 4, 95) 2) (7, 24, 25)
(3) (8, 15, 17) 4 (5, 13, 14)
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60.

61.

62.

63.

64.

What is the product of two integers between which _1—39 lie?
(1) 65 (2) 90

3) -72 4 +72

((11639))22__11 = How much?

(1) 171 (2) 168

3) 169 4) 170

I had to give Rs. 7 change to Rickshaw uncle. I had enough coins of Rs. 1,
Rs. 2, Rs. 5. Then in how many ways can I pay him?
(1) 6 ways (2) 3 ways
(3) 5 ways (4) 4 ways

The average age of Ria and her 4 friends is 24 years. Their ages are (3m — 2),
2m + 7), (4m — 7), B3m), 3m + 2) respectively. Find the value of ‘m’

(1 7 2) 9

3) 8 4 5

As the rate of ticket of a play increased by 25%, the sale reduced by 15%. What
is the rise or fall in the total income?

(1) 6.25 % rise (2) 6.25 % fall

(3) 12.5 % rise (4) 12.5 % fall
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60. 17 oz ufdm wen RW 3 wiE B d9 2, QTE W ORwE FRa

13

BT?

(1) 65 2) 90

3) -2 4) +72
61. \ (11639))22__11 = fopa ?

(1) 171 (2) 168

(3) 169 4) 170

62. Tt =l g 7 T Y2 o I M UM 1 %, 2 % F 5 % & yAd f=m
g, d I8 7 T fhad yHR ¥ fow S Hed BY?
(1) ®: TR F (2) @ THR F|
(3) U YR F| (4) WX YHR

63. fom @ 3uhl =m wefeRi &1 oy HI sfmd 24 99 B AR Y HAM:
Gm—=2), Cm +7), (4m —7), Gm) A BGm +2) I B @A ‘m’ & U @ H|
(1) 7 2 9
3) 8 4 5

64. TeH & kel I HHAd 25% Fed & wRU fEAl 15% HA B T FA I
H ghg dur wH foRadi?
(1) 625 % gt (2) 625 % HH
(3) 125 % dig (4) 12.5 %
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Which of the following are the factors of (a3 — 8b3) ?
(1) (a — 2b) (a®> — 2ab + 4b?) (2) (a — 2b) (a*> — 2ab — 4b%)
(3) (a — 2b) (a*> + 2ab + 4b%) 4) (a — 2b) (a* + 2ab — 4b?)

The length, breadth and height of a cuboid is /> cm ‘b’ cm, ‘A’ cm. If
[b = 60sq. cm, bh = 24 sq. cm, hl = 40 sq. cm, then find the volume of cuboid.
(1) 248 cu.cm (2) 240 cu.cm
(3) 600 cu.cm (4) 420 cu.cm

Solve the equation and find the value of x,

x—5 x+2
+

5 , 0
1 0 @) 07
10 13
(3) 7 4) B3

A semicircle is drawn over a diameter. The circumference of the semicircle is
72 units. /(BC) = I(AO) = [(OC). Find the permimeter of A ABC.

(1) 42 + 143 units (2) 5643 units
(3) 56 units (4) 423 + 14 units
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65.

66.

67.

68.

(@ — 8b%) #1 rEe f=ffgd & @ ®H-T1 87
(1) (a — 2b) (a* — 2ab + 4b?) (2) (a — 2b) (a* — 2ab — 4b?)
(3) (a — 2b) (a® + 2ab + 4b?) (4)  (a — 2b) (a* + 2ab — 4b?)

fpet B % ATHRATA ek h TS, TISE 9 S AN L b F kB
Ib =60 0 @, bh =24 F A, Al = 40 I FH F A M ek H
TThA {d hL

(1) 248 w=a (2) 240 wIEH

(3) 600 T=EH (4) 420 wEe

Feafafga gl g L T 0 H AF TG R

x—5 x+2
+

5 0
(1) 0 2) 0.7
@ o @ =

A ABC 1 Yo AC &l U™ HHe Adgd s T 2| 38 iedgd i ufifafa
72 1 B I(BC) = (AO) = [(OC) & @ A ABC & ufifrt 3@ =

N
A O C
(1) 42 + 14/3 3% (2) 56/3 31
(3) 56 TR (4) 42/3 + 14 T
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69.

70.

71.

72.

Which of the following options is the co-efficient form of the polynomial
(x> — 4x) ?

(2) (19 Oa O) O: - 49 O)

(1, 0, 0, 0, — 4) “ (1, 0,0,0,4)

Sureshrao sold an article for Rs. 1962 and earned a profit of 9%. What was the
cost price of that article?
(1) Rs. 1900
(3) Rs. 1950

(2) Rs. 1850
(4) Rs. 1800

mocL If m = 30 then n = 5. Write the equation of variation.
(1) m=6n
n =150 m

(2) mn = 150
(4) mn =6

In A PQR, angle bisectors of £ Q and £ R intersect at point O. mZ0 = 130°,
ms/P =7

130°

Q R

(2) 100°
(4) 130°
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70.

71.

72.

(x> — 4x) 39 9gUE 1 Uk ¥9 fAElcREd H HH-|1 77
(H (d, -4 2y (1,0, 0,0, —4, 0
3) (1, 0,0,0, —4 4) (,0,0,0 4

g g TRt a%g A 1962 T K S W 3 9% oW g ® o A
a&g 1 AP fohadT oT?

(1) 1900 ¥ (2) 1850 T

(3) 1950 ¥ (4) 1800 T

ma%zrﬁ:m=30?ﬁn=ssaaﬂwwﬁawwwﬂww%@|
(1) m=6n (2) mn = 150
3) n=150 m 4) mn =06

APQR § £ Q W& /R % HU THlgWS® fog O W wiresfed +d &, qu
m/0 = 130° &, @ msP = fhan?

P

130°

(1) 50° (2) 100°
(3) 80° 4) 130°
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A farmer purchased a pump at Rs. 6600 after getting a discount of 12% on the
printed price. What might be the printed price of the pump?

(1) Rs. 7500 (2) Rs. 6500

(3) Rs. 5700 (4) Rs. 8500

Instructions for the Q. 74 and Q.75. The sale and purchase of a merchant for the year

X

¢

)

Y

27
.

2017 for 3 months is shown through a bar graph. Observe it and answer the questions.

L7

X

5
)

S\
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v Scale
I i Y &S Ajcm = [1000 ¥
10000 — | ! !
T‘ bl | Index : |:| Purchase
& 8000 —| ! |:| Sale
% 7000 — 1
@ 6000
T g 5000
%. 4000 —
E. 3000 —
T 2000 —
l' 1000 —
X
| April | May _ June
<«———+——— Months >
What type of bar graph is it?
(1) Divided bar graph (2) Joint bar graph
(3) Percentage bar graph (4) Simple bar graph

Find the ratio of total purchase to total sale for the three months.
(1) 7:3 (2) 10:13
3) 13:10 4) 7:5

SPACE FOR ROUGH WORK

0311-Hindi Set-A 30 of 32 Contd...



R

73. e frem W w e sR wh e w12 oRwe g R B o S
6600 T f fiem| HfRE 6 T Fmad fead @ oawd? e
(1) 7500 =3 @) 6500 T =
(3) 5700 T 4) 8500 ¥ 5

T 74 9 75 & fou gman: fRE SO w1 w9 2017 % W il %k sha-fosed
H WHE g f@mn w21 38R MR W FEfdfed W % 3w ford)

, y  WEER oy s 1 = 1000 w94
T 10000 —| kil Cd s
o000 — ‘ L1 fopm
“+ 8000 —
Bl
iﬁ sae2
521 B L 1 EG! :
-« YIg >
74. o T wwel@ fRE wRR w1 27
(1) fawfa =vera (2) WIH WUTE]|
(3) dfaea Ty (4) WERU UG |
75. @ WER W Pd BT HF P foskT @ UM FE R
(1) 7:3 2) 10:13
(3) 13:10 4) 7:5
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